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Practice Questions on Arithmetic
Operations

Here are some more questions for you to practice your knowledge of Arithmetic
operations:

1.

The total money earned by the company is Rs. 42425. The money is to
be divided into 15 equal parts for partners. Find the total share of 3

partners.

. There are 45 boys and 48 girls in a school. The students have to be

allotted seats in 3 classes equally. Find the number of students in each

class.

. An Athlete runs 15 km in one hour. He decides to go on a run 5 days a

week, for 5 hours a day. How much distance does he cover in a week?

. A piece of cloth of length 10 metres is worth Rs. 250. A trader orders

0.79 kilometres worth of that cloth from the supplier. Due to
international trade, he has to pay the supplier in CAD. 1 CAD is equal
to 7 USD. Find the total amount he has to pay to the trader(in CAD).

. Ajay works for 6 hours a day. He gets $10 for working for 1 hour. How

much money will he be able to earn in one year, given he works for 25

days every month, excluding 40 sickness breaks?

. Meera bought 96 toys priced equally for Rs. 12960. The amount of Rs.

1015 is still left with her. Find the cost of each toy and the amount she
had.

. There are 1,45,968 bags of sugar, 2,36,487 bags of wheat and some

bags of rice in a godown. If the total number of bags in the godown is
4,50,000, find the number of bags of rice.
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8. 1,575 students of a school want to go to Surat by bus. If one bus can
carry 50 students, how many buses are required to carry all the
students?

9. There is a group of 10 people who are ordering pizza. If each person
gets 2 slices and each pizza has 4 slices, how many pizzas should they
order?

10. Lara has 3 bags with the same amount of tiles in them, totalling 12
tiles. Markus has 3 bags with the same amount of marbles in them,
totalling 18 tiles. How many more marbles does Markus have in each
bag?

11. There are 4 chalkboards in a classroom. Each chalkboard has 2
pieces of chalk. This means there are 8 pieces of chalk in total. If you
take 1 piece of chalk away from each chalkboard, how many will there
be in total?

12. Jasmine went to 16 houses on her street for Halloween. 5 of the
houses gave her a chocolate bar. What fraction of houses on Julia’s
street gave her a chocolate bar?

13. There is a group of 10 people who are ordering pizza. If each
person gets 3 slices and each pizza has 4 slices, how many pizzas
should they order?

14. There are 255 books in a library. On Monday, 143 books are taken
out. On Tuesday, 52 books are brought back. How many books are
there now?

15. Melissa buys 2 packs of tennis balls for Rs. 150 in total. Altogether,
there are 6 tennis balls. How much does 1 pack of tennis balls cost?

How much does 1 tennis ball cost?



